HENRY PARK PRIMARY SCHOOL
2017 SEMESTRAL EXAMINATION 2
SCIENCE

PRIMARY 3

Duration of Paper: 1 h 30 min 80

Name: () Parent’s Signature

Class: Primary 3

Section A: Multip le-Choice Questions (20 X 2 = 40 marks)

_For each question from 1 to 20, four optvons are glVen One of them is the correct :

 answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1 2,3 ord)on the

Optical Answer Sheet

1. The diagram below shows the different stages of a young plant's life
cycle.

What do these stages in the plant life cycle show?
(1) Living things can die.

(2) Living things can grow.

(3) Living things can respond.

(4) Living things can move on their own. {
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& Richard cleaned and changed the water in his fish tank every day. He fed
his fish every day to ensure that they have enough food.

On the first day, the fish swam around in the water. However, by the sixth
day, Richard found his fish swimming closer to the surface of the water
even after they had eaten.

Day 1 Day 6

Which one of the following statements is the most likely reason why
Richard's fish swam closer to the surface of the water?

(1) ~ The fish needed sunlight. _
(2) The fish were looking for food. -
(3)  The water nearer to the surface of the water has more air.

(_4)-_ The water nearer to the surface_of the water is warmer.

3. Mrs Yee saw an organism. She identified it as a reptile.

Which one of the following helped Mrs Yee to identify the organism as a
reptile?

(1) Itlays eggs.

(2) Itlives in water.

(3) It has dry scales.

(4) It feeds on other animals.
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4. Which of the following characteristic(s) is/are found in birds, but not in
other animals?

A: They lay eggs.

B: They have wings.

C: They have feathers on their bodies.
(1) Conly

(2) AandB only

(3) Aand C only

(4) BandC only

5. The diagrams below show two plants, A and B.

stick

Plant A - Plant B

Which one of the statements about plants A and B is correct?

(1) A has a weak stem but B does not have a weak stem.

(2) A uses its leaves while B uses its flowers to climb up the support.
(3) Both A and B cannot use their leaves to make their own food.

(4) Both A and B use their stems to climb up the support to get sunlight.
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6. Study the flowchart below.

living do they have mould
things flowers?
rose fern

Which one of the following best represents question J?

(1) Dotheybearfriits? |
" (2) - Do they make food?
(3) Do they have seeds?
(4) Do they have spores?
(
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£, The diagrams below show two organisms, A and B.

Organism A Organism B

. Some pupils made the following statements about organisms A and B. . -

Pupil P: A and B are plants.
Pupil Q: A and B feed on other living things.
Pupil R: A and B reproduce from spores.

Which of the following pupil(s) gave the correct statement(s)?

(1) Qonly

(2) Ronly

(3) PandQonly
(4) P andR only
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8. Mrs Tan went to the supermarket and bought some groceries. She wanted to ensure
that she could carry them home in a bag that has the following properties:

e itis waterproof
 itdoes not tear easily
* it can be easily folded

Which of the following materials should Mrs Tan'’s bag be made of?

(1) Glass
(2) Paper
(3) Fabric

(4) Plastic (

9. Which of the folidwing dbjécté are made from materials that came from plants? :
A:  rubber ball

B:  paper bag
C: metal ruler

(1) A and B only
(2) A and C only
(3) Band C only
(4) A, Band C
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10. Four objects made of different materials, W, X, Y and Z, are dropped into
a container of water. All the objects are of the same size and shape.

The table below shows the properties of the four different materials.

A tick (v') indicates that the material has the property.

Ability to float Waterproof Flexible Strong
W v v v
X v v
Y v v v
Z v v

Which material is the most suitable for making part G of the sail boat shown

below?

(1) W
(2) X
(3) Y
(4) Z
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11. The diagram below shows what happened to the leaf of a plant after a period of time.

12.

Before After
The change in the leaf was caused by a butterfly during a stage in its life cycle.
Which stage is it?

(1)egg.
(2)larva i

(4)adu!t_ : ( )

Alice was asked to draw and label the life cycle of an animal that has 3 stages.
She drew 4 different life cycles as shown below. '
Which one of the life cycles is correct?

(1) g ()
Egg — , » Pupa

Young Adult Egg Larva
W o S
Life Cycle A Life Cycle B
(3) Young (4) Nymph
Egg Adult Egg Pupa
b W & e ST
Life Cycle C Life Cycle D (
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13. The leaves of plant M close when touched as shown in the diagrams below.

leaves of plant M are open leaves of plant M are closed"

This tells us that plant M is a living thing because it can

(1) die .
(2) grow
(3) breathe
(4) respond
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14.  Which of the following animals have young that looks like the adult?

Chicken Grasshopper

(1) Aand B only
(2) Aand Conly -
. (3). Band Conly

(@) ABandC . I' S Ty R

15.  The diagram below shows a horse-shoe magnet.
If the magnet is placed in a box of paper clips, which part of the magnet, A, B, C or D
will attract the most number of paper clips?

(1
(2

v@uv
oow>

(4
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16. Study the classification chart below.

Materials

Non-metals Metals
Non-magnetic Magnetic
X |
| : _ Y Z
* Based on the information given, which of the following is correct? ~
X Y Z
(1) copper aluminium iron
(2) paper copper aluminium |
(3) rubber gold steel
(4) cotton steel copper

P3 SC SA2 2017
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17. Annie carried out an experiment on three objects with a magnet. She wanted to
find out how the objects would respond when both the poles of the magnet are

placed near them. Below are her results.

Object Moved towards the Pushed away by the
magnet magnet
A v x
B x x
Cc v v
(V- Yes % - No)
What could objects A, B and C be?
[ A B c
(1) magnet ice cream stick iron pin_
(2) __ronpin .- | magnet- - |- handkerchief . - | -
(3) iron pin - " ice cream stick - . _magnet
(4) ice cream stick iron pin * - magnet

18.  Ben placed two cubes, A and B, on a bar magnet as shown below.

Cube B -
cube A _

bar magnet

Ben then lifted up the bar magnet. He observed that cube A remained attached to
the bar magnet but cube B immediately dropped off.

Ben wrote down some possible conclusions from his experiment.
Which of the following conclusion(s) is/are possible?

A: Cube A is magnetic.
B: Cube B repels the bar magnet,
C: Cube B is made of a non-magnetic material.

(1) A and B only

(2) B and C only

(3) A and C only

(4)A,BandC (
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19. Betty brought a magnet near a metal paper clip. She observed that the paper
clip was attracted to the magnet when it was still 5 cm away.

5cm
S N|<—

Magnet Paper clip

Based on her observation, which one of the following conclusions can Betty
make?

(1) - Magnetic force can act at a distance.
(2) The North pole of a magnet is the strongest.
(3) - The paper clip is made of a non-magnetic material.
: (4) Only the North pole of a magnet can attract a magnettc object at a
5 dlstance _ : . i, ;

20. The diagram below shows a doorstopper.

Part A is made of a magnetic material.

Which of the following statements below best explains how a door stopper
keeps a door open?

(1) The magnet repels part A.

(2) The magnet attracts part A.

(3) Part A is made from aluminium.

(4) The magnet needs electricity to attract part A.

End of Booklet A
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2017 SEMESTRAL EXAMINATION 2
SCIENCE
PRIMARY 3

Name: ( )

16

Class: Primary 3

Section B: 8 Structured Questions (16 marks)
For questions 21 to 28, write your answers in the space given.

21. Four pupils answered the following question.

How are ba_cterla and ferns similar?

The diagrams below show their answers.

Put a tick (¥) in the box against the correct statement(s). [2]

They can
reproduce.

They cannot  |. They need
die.

They are
fungi.

Page 14 of 28
P3 SC SA2 2017



22. The diagrams below show two animals, P and Q. [2]

Animal Q
Complete the table below using the _'c'orrect words.
AnimaiP I ~ AnimalQ
Animal Group T 1 - Fish

Outer covering Hair
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23. The diagram below shows the young and adult of some animals.

Draw lines to match the young with the correct adult. [2]

24. Write True (T) or False (F) in the correct boxes in the table below. [2]

Statement TIF

a) All bacteria are useful to humans.

b) Yeastis a type of fungi.

c) Some types of fungi can be eaten.

d) Fungi reproduce by seeds.
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25. The picture below shows a pair of swimming goggles.

What materials are the parts X and Y made of? [2]
Name a suitable material for each part. Pt

Part X is made of

PartYismadeof .

26. Study the diagram below.

A B C D

At which stages of the life cycle does the seedling make its own food? [2]
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27. The diagram below shows a compass.

North

A similar compass is placed near a Set-up A as shown below.

Magnet North pole

Sty_rofnam :

(a) Put a tick (¥') in the correct box, for the compass that shows the direction of [1]
the compass needle correctly.

(b) Name a metal that is not magnetic. [1]
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28. Study the 3 animals classified together below.

g Wh‘ich_of the.'-follc')Wing.'ahimals can be placed in the group 'sh_dv\_!n' above? . R 2] |

Put a tick (¥') in the correct boxes provided below.
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2017 SEMESTRAL EXAMINATION
2 SCIENCE
PRIMARY 3
24
Name: ( ) Class: Primary 3

Section C: 8 Open-Ended Questions (24 marks)

For each question from 29 to 36, write your answers in the spaces given.

29. Ferlicia found animals M and N in the forest. She did not know which animal
- group they belonged to. Both animals were at their adult stage.
After observing the animals for a few days, she recorded her observations in the -
table below. A tick (v') means that the animal has the characteristics.

Animal
Characteristics M N
Does it have three body parts? v
Does it have moist skin? v
Does it lay its eggs in water? 4
Does it have 3 pairs of legs? .

a) Using the information given, which animal group does animal M most

likely belong to? Explain your answer. (1]
b) Name another characteristic of animal M. (1]
c) Using the information given, explain why animal N cannot be a reptile. [1]
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30.

A tick (v) means the characteristic was observed.

Peter observed four different plants and recorded the data in the table below.

Characteristics observed
Plant
Lives on land Lives in water Has spores
wW v
X v
Y
Z v v

The chart below shows how sorne plants are classified into groups A, B, C and

D.

~ Plants

I Flowering I

i

|

Non-flowering I

[

Lives in water

; | [ Lives on Iand!

Lives in water

Lives on land

I

A

[

B

C

o]

(a) Which plant, W, X, Y or Z, can be placed in group B?
Explain your answer using the information given.

Peter observed plant M, shown above.

(b)

Which group, A, B, C or D, would Peter classify plant M under?

P3 SC SA2 2017
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31. Josh hung strips of materials, A and B, as shown in the set-up below. Both
strips were of the same size and thickness.

material A material B

Two boxes of the same mass were hung from the strips. The diagram below
shows what happened after the boxes were hung.

méteriai A

material B

10 kg

a) Based onthe experiment, what

can Josh conclude about the strength of
material B? Give a reason for your answer.

(2]

Question 31 continues on the next page
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Question 31 continues on this page

Josh was taking a walk in a park. He noticed a hole near the footpath and
wanted to cover it so that no one would fall into it.

b) Which material, A or B, would be more suitable to cover the hole so that
people can walk on it? '

32. Mark wanted to make raincoats for his children.

He carried a few tests on materials, A, B and C and recorded their
characteristics in the table below. )

_ Property _
Materials | Waterproof Strong Flexible - |
— o = :

B v 7
c 7 v

a) Which material is the most suitable for making raincoats?

b) Based on the information given, explain why the material identified in part

(a) is most suitable for making raincoats.

Question 32 continues on the next page
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Question 32 continues on this page

Muthu wanted to make a baby hammock.

~ " baby hammock

c) Based on the information given, which material (A, Bor C) will be most
suitable for making a part K of the baby hammock?

i) Material :

us

i) Explain your answer in (i). -

(1]
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33. Some pupils observed the life cycle of insect X.
The table below shows what they observed at each stage of growth in the life

cycle.
Date Development at each stage Amount of food taken
13 July Eggs were laid in water. 0g
17 July i 50g
26 July Pupae were seen. 0Og
1 August | Pupae became adult insects. 47 g

Based on the information given, answer the following questions.

-“;a),- How many stages are there i'n_. the Iife_ cycle of lnsect X'? g #0  EY R

b) What has happened to insect X on 17% July? ' [1]

c) On 26th July, insect X drd not take in. any food. - i
' Explam why. S
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34. Ali baked a cake. He left the cake on the table to cool down. Then, he cut the
cake into two parts and put each part on plates, A and B. The table shows what
he did to both parts of the cake.

‘ Plate A | The cake was wrapped in a plastic film.

plastic film.

LPI ate B The cake was moistened with water, then wrapped with a

cake wrapped with plastic film

"~ _Platea . . PlateB

a) On which plate would mould first appear on the cake? S
Give a reason for your answer. : [1]

Andy had a medical condition in which fungus grew on.his foot, as shown below.

The doctor advised Andy to wear slippers to school instead of shoes and socks
to reduce the fungus growing on his foot.

b) Based on the experiment above, explain how wearing shoes and socks
will lead to more fungus growing on Andy's foot. [1]
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35. David carried out an experiment using the set-up below.

/iron sheet

. ]

v

steel bar A —DE—> steel bar B

e

N switches -

- Aniron sheet was hung freely at an equal distance from steel bars, A and B that Y

‘were connected in two dlfferent circuits with identical batteries.

a) Based on the set-up above, what do you thlnk steel bars A and B would
become if David closes the switches? (1]

David closed both the switches. The result is shown in the diagram below.

...iron sheet
[ - [ J /j S |
steel bar A steel bar B
switches =l
b)  Explain why the iron sheet moved towards steel bar B. (2]
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36. Ellie observed the set-up shown below.

south pole

magnet A
No

magnet B

a) Explain why magnet A was able to remain above magnet B without
- touching it. 1]

b) Name the pole for part X. [1]

- Ellie did something to magnet A and the result is shown in the diagram below.

—— magnet A
—— magnet B

c) What could Ellie have done to magnet A? [1]

End of Paper
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Ans Key - Section B

(21)
They can
l reproduce. I l They need food. I
(22) | AnimatR: ftammal (s) @Y,
Animal Q: Scales m
(23) .
(24) |a)F b)Tc)T d)F
(25) | Part X : plastic

Part Y : Rubber

(26)

B and D / seedling and adult

(27)

(a)

~




(b) Aluminium / Copper / Gold / Silver / Zinc / Brass

(28)
v v J
Ans Key: Section C
(29) (a) Amphibian. It ha(e,vst sfg [&13 [;
) Li Bolion /7 63
ives \Q n ater.
e n @‘B}b(dy parts and 3 pairs-ofie :Ié‘f@lﬂés do not have [1]
(30) W it ch by spores and li brFl'and [1] -
ISIV0
I e L — 1
(31) L] (a)Material B is weaker than ﬁr aterial A and|Material b\vek‘e’f rst after the
g box was hung from it. :
] ___\
(32) | OO -
e waterproof and flexible :
A bob kamﬁmg;re M{E‘x rﬂe. ‘fo r'ock
e bu% ond Jwitls gtand ’f’e“c e fﬁmer a) A
(33) Concept L y%le tages df grewith Shotid be used  Fo maKe
a bals Hamm{)ciﬁ ke

(a) 4 stages Ef

(b) Eggs had hatchecc?r‘ awaﬁ 17 91&@

(c) Itis at the pupae stage where the pupae is developing into an adult insect.
(34) | Concept: conditions for Fungi growth

(a) Plate B as the cake had moisture.

Cause and Effect

(b) Wearing socks and shoes would cause the feet to perspire /sweat hence more

fungus grow on feet that are wrapped up.
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